
Conjuguer	un	verbe	au	passé	composé

Fiche

•	Le	passé	composé	se	forme	avec	l'auxiliaire	avoir	ou	être	conjugué	au	présent	et	le	participe	passé	du	verbe	à	conjuguer.

•	Un	participe	passé	se	termine	par	:

-é	pour	les	verbes	du	1 	groupe	(	chanté)	;

-i	pour	les	verbes	du	2 	groupe	(fini	)	;

-i,	-u,	-s	ou	-t	pour	les	verbes	du	3	 	groupe	(parti,	couru,	pris,	offert).

Pour	être	sûr	de	la	terminaison	du	participe	passé	d'un	verbe	du	3 	groupe,	on	peut	le	mettre	au	féminin	(partie,	courue,	prise,	offerte).

•	Employé	avec	l'auxiliaire	être,	le	participe	passé	s'accorde	en	genre	et	en	nombre	avec	le	sujet.

Ex.	:	Ils	sont	venus	avec	un	bouquet	de	fleurs.

Employé	avec	l'auxiliaire	avoir,	il	ne	s'accorde	jamais	avec	le	sujet.

Ex.	:	Ils	ont	offert	un	bouquet	à	leur	grand-mère.
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